
Homewerk Due Sept. 13 Dowyel 6ameiro 11500025 

Section 2.1 

5) -Ul os (s) lul sn(99)> 

) P=Wl cos(3to), |u|sn(40) 
P = 2-3, 7-2 =S 

10 PE= (13, 5= 212 
15,2) = L30, 10 

21) V= (2,3> 

W= <41> 

2V-4,6 -W=4-12 
VAW=L,4> 

2v-w-0, 
) V= P = 5 

4 1-Cus()1Sn5)>(0.225, 0.974 



Section 12-2 

11) 1- By-3 Pl -Py--2 
3-P 3 

P 2 

Py= 
P--0 

P-(-2, 6, 0) 
13) V= 4<12,37 

SinCe y iS a scalp multiple of C1,2,37 
ony Vecto poralel to V will so Le 
OScala mlkiele 0t i,23 

a)C2,4, L) = 2<1,2,3 
Tt iS parallel o V ans points inte ame 
diection Sine the multple K osttive 

Net porallel 

Q-19-21=12,3 
FGppNTa Uel ih the oppoSHE direction Since 
the multPle (5 heative 

19 on hext Page) 
25 ait vecko euE 0.535, 0.267,- 0.902 

nt vecto e 0.535, -.207, O82 
nit Vecto s orent egual So W ondvarentpofollel 

ey 0.58, -0. M, 0.784 22) =-0.59%, 0.19, 0.784 
Uunt vectC aXenlt equ p w anè V orent porodle 



11)-2,1,3 1 21,12 =<1,-22,->+3, 4,4 
1-2 

31) nit Vecto( ev=6 4/6, 2/4> = -23, 3, 1/22 
OPposte dretion_ evogroshe-1-/2,2/3,/2=<, -%,- 

49) P, (0=(C,E, 2)4t(0,-2,1) = (5, -24+5, t+2) 

P./e)= C52)++ (0,-4,2)=,-ytt5, 2E+2) 

51 T(6- <t1,-2+2, t+2> 
=<2s, 1, S1 

( 4-1- 2S 
2)-2tt2=1 

3tt2= S+1 

fron (2 we get t=2. Pug this imto (1) an We get 

Sl2. PuMA both into 3) nd We get 2.5= 1.5 Whch 
S notrue. This meanS and do not Mtersec 
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